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(148]
1[ 3]
2[ 5]
3[ 2]
4[ 6]
5[ 7]
5[ 8]
70 4]
8[ 9]

[348]
10 7]
2[ 2]
3[ 3]
4[ 6]
5[ 8]
6[ 5]
70 9]
8[ 4]

[548)
1[ 6]
2[ 4]
3[ 5]
47 2]
5[ 8]
6[ 7]
70 3]
8[ 9]

( 0.3 m)

609 =t v/ i 2 (RiTEA C) &5
608(F ff EE L 2 (AMWERAC)8. 62
638 i)l AR 4 2F 2 (FRET A28, 79
72006 Kk k2 (KElEL57)9.26
7698 0 H &2 (EMLDC)I.40
6T1FE HF M2 (5 B R C)9.40
e ff Ez (E[H L DC)9.55
67244 A HR K2 G m R C)9.91

( -0.7 m)

74010 B MR K2 (F7A7/]1.AC)9. 48

85845 A K F2 (I 4k A €)9.51

859 )M BEFHER 2 (#= 4 A C)9.62

610K WE 28 A 2 (EM#RA C)10.10
60617 i & I 1 (EMIEHAC)10.16
TI3F AR EIk1 (KPR AC)10.25
73985 AK BEIER 1 (F927/]1.AC)10. 36
674 A [E k1 G R C)10.69
( -0.6 m)

8657 (I 77 b 2 (LUF7v=//2)-1)9. 65

686rH i F A 2 (3¢ =EkE 1)10. 41
893 #f £ H 2 (TATACER)10.72
1919 L B BG 1 (3% Il 2 £)10.74
8633 H A& I 2 (LUF7/=//2)-1)10.78
192fE K 1%2 (% Nk 1)10.82
71285 AK HEARER 1 (KR AC)11.07
60775 M K 1 (A C)11.75

- 2FBF 50m A LL—RRHE (5%E)

[2#48] ( +0.3 m)
10 9] 684% #h JE 4% 2 (Sr 7= 1)9.16
2[ 4] T8 W mEk2 A A C)9. 38
3[ 2] 6734 + fH/E1 G HW R C)9.54
40 5] 77048 F #m2 (&ML DC)9.55
50 8] 768J7  #F fF2 GRMLDC)9.72
6[ 7] 670 & JAHE2 (32 B R C)9.93
70 6] 6697th 7+ & k2 (352 @ R C)10.23
[ 3] 675 1 & B2 BEATIVMT7) RiG
[4#8] (  -1.0 m)
10 4] 861/h 1 i) =F 2 (EMke E#E)9. 45
20 7] 869%F H W A2 (LUF7/=//2/-1)9. T
3[ 9] 685@7 M K &2 (FFERe F)10.20
41 6] 8944 & 2 (F7A7ACER)10.30
5[ 5] 79385 A 3£+ 2 (3 )1l e 1-)10.37
6[ 3] 8121 IFf HaE 1 (WUEIAC)10.58
70 8] 637) MW &2 (FRETEKS)10.62
8[ 2] T4k —HE1 (KHRAC)IT. 11
I N

(] TR mm

1 609 =V 7/ —# 2 (Metadiif A C) &5 *0-3
608 (7 i 2 L 2 (MEiA{fmA C)8.62 +0.3
638771l A~ =f 2 (Fr BT & & 23)8.79 +0.3
6847 M LB 2 (GF 7 )& B 1)9.16 +0.3
7209 K fFFk 2 (REH L2 57)9.26 +0.3
18RS Zik2 U 4% A C)9.38 +0.3
671@3%# 2 G2 B R C)9.40 +0.3
7698 0 H &2 R R L D C)9.40 +0.3
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(148)
1[ 3]
2[ 7]
3[ 9]
41 4]
5[ 8]
6[ 5]
10 2]
8[ 6]

(3#H)
10 4]
2[ 3]
3[ 6]
41 2]
5[ 8]
6[ 7]
70 9]
[ 5]

( -0.6 m)

T34EE Y] K k4 U % A C)14.87
WBI=H K:E3 UM% A C)15.03
197/ )11 B B3 (45 )1 B2 k)15, 11
666)F bk ¥ E 3 ¢ W R C)15.24
8187R¥% FEZJr 4 (WUEIAC)15.43
6647k - 2 K4 (E W R C)16.25
615110 [ f& =} 4 (ERTEHAC)16.57
6654 ;iU Me k4 (£ W R C)18.29
( +0.5 m)

6314 & H 4 (A7) /h7h73-)15. 91
820 g x4 (WUEIAC)15.93
796 %% W $H ¥ 3 (58 )1 B2 £)16.04
603 f1 1L £ 3L 4 (MEbTRAREL)16. 32
6615 M  H4 (EEEH R C)16.50
6607E & KW 4 GEE R C)171.27
6627 v~ EfE4 GE B R C)17.48
6774 1 M B 4 BEAT)VE77) RiG

[248] ( +0.5 m)

1[ 3] 84645 H &5 3+4 (= Jb A C)15.47
2[ 4] 850F 8 “Z=BEE4 (x db A C)15.51
3[ 2] 8774 A JIl FF4 (MIZOLAB-AC)15.63
4 7] 899K 15 24 (TATACER)15.T1
5[0 9] 713Kk A MEf4 U4 A C)16.09
6[ 6] 667)% % 1% }3(EHW R C)16.59
70 8] 898#r 1R % £ 4 (7AFACER)16.67
8[ 5] 633A I w4 A7) hTi-)17. 21

[4%8] ( +1.0 m)

10 3] 802%% M &4 4 (B )1l F 1)16.24
2[ 6] 601 @ 1:44 UNEHTRAEL)16. 42
3[ 7] 702%5 M AE 3 (EHY2=7)16.60
40 2] 821/ &  H4 (WIEIAC)16.60
50 9] 7981 A 4 (3§ )1 k& )16.66
6[ 4] 8971 &L VA Jr4 (FA7ACHK)16.88
70 5] 628 k- #t %+3(TEAM300)16_99
8[ 8] 819(Fj#E ¥ K4 (HWUEIAC)1T.09
9[ 1] 663F = E A4 G W R C)17.95



[54H]
1[0 4]
2[ 5]
3[ 3]
4 9]
5[ 2]
6 1]
70 7]
8[ 6]
9[ 8]

[74H]
10 7]
2[ 6]
3[ 1]
4 2]
5[ 8]
6 4]
70 5]
8[ 3]
[ 9]

[9#8]
10 2]
2[ 7]
3[ 6]
41 1]
5[ 5]
6[ 3]
70 8]
8[ 9]
[ 4]

(1148] (

10 5]
2[ 7]
3[ 1]
41 9]
5[ 6]
6[ 4]
7[ 3]
8[ 8]
9[ 2]

0 A
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616 4 )1
666 )2 ik
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( -0.3 m)

687 K i B A 4 (3¢ =EkE 1)15.90
6974 JH N7 F 4 (B )1 B2 F)16. 43
848tE  Hk P4 (¥ JE A C)16.93
84735 B HEH4 & L A C)17.16
816k &2 FF% 3 (WUEIAC)1T.52
6024% 1L Brik 4 (MEHTHAREL)18.27
TA4 7 H A K 4 (F7277]1.AC)18. 34
TA3 K B F 4 (F7A7/]1.AC)18. 51
745K 0 #E 4 (F7A7/]1.A0)20. 29
( -0.2 m)

688 K 1 Hi 4 (SF 1=k E)16.02
6147% 1+ A% 3 (EMTizAC)16.19
8524 K B34 (b A C)17.12
1907 W MEH 3 (Sunny)l17.16
854'% &k M &3 (b A C)17.47
70585 K A4 (BHY2=7)17.48
1213 Kk H 4 (KEEEs57)17.74
73675 K Mt AT 4 O A C)11.74
1940 ) L3 (B I e b)) ki
( 0.4 m)

813N i fn#&3 (WUEIAC)17.30
77845 B MR *i 4 (RIPIR AC)17.42
77672 [ & 13 (KR AC)17.73
799 1A BHHERR 4 (35 )1l B2 £)18.20
803t N HE4 (%5 )1 k& £)18.29
8177 &% H A4 (WUEIAC)18.40
8495 K k4 (k Ik A C)18.43
659 K 1 f: K4 (E B R C)19.17
6134 )11 B #f 3 (RiafiigA C) Ri5
-0.5 m)

k3 (I dk A C)15.92
WK 3 AN/ ThTi-)17.76
K %4 (CKFIRAC)18.20
a4 @IgArE-7777)18. 44
612)5% & H 3 (EfiHAC)18.69
795(F k=3 (35 Il B 1-)18.78
691 UTAE B oKEA 4 (SF 1=k F£)19.02
758 N &3 (RIWRAC)19.24
856 (L A HARG 3 (M db A C)19.92

857 E lif
629 A
780 B (L
881’5 H

K4 U A%
i =3 (U 4 A C)15.03
ES3 @ ) R )15 11
MK 4 (Efaiifig A C)15.13
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[64H]
1[ 5]
2[ 2]
3[ 9]
41 4]
5[ 6]
6[ 7]
70 3]
8[ 8]
[ 1]
[8#H]
1[ 7]
2[ 2]
3[ 9]
41 4]
5[ 8]
6[ 3]
70 5]
8[ 1]
9[ 6]

( +0.9 m)

61675 JII B8 K4 (ERTHRAC)15.13
89614 jk ¥ 4 (TA7ACER)17.05
8957 R B3 Mk 3 (AT ACEM)17.20
851 F #F 24 (I 4t A C)17.54
6324x J5L K B 4 (A7) /hT7hTI-)17. 54
TM S £ SCHE4 (F7A77]1.AC)17. 65
76554 & HEI3 (EMLDC)17.79
1427 7 3 — 4 (7927/]1.AC)18.56
8007 /K — W4 (B Il B2 b)) RiH
( +1.6 m)

6897 By I £ 4 (S REME L) 16.74
855 g T HH 3 (& db A C)17.16
6300 M f &4 37 VhTH73-)17.20
6762 A #hik 3 BEATIVEIT7)17. 32
61175 #5221k 3 (mAiiz A C) 17. 54
703/ FHK 3 (BHY2=7)17.72
10485 K 23 (BEHY2=7)17.72
764%F - BE A3 (EM L DC)17.77
8537k B &4 (4 A C)17.98

(10#8] ¢ +1.2 m)

1[ 5]
2[ 3]
3[ 6]
41 4]
5[ 9]
6[ 1]
70 7]
8[ 8]
9[ 2]

(1248] (

1[ 3]
2[ 5]
3[ 7]
41 1]
5[ 4]
6[ 6]
10 2]
8[ 9]
9[ 8]

6907% % ¥i /E 4 (R EkE 1) 16.29
8787 By K — 3 (BEAri-19)17.17
6920U f& &4 GrrREREE)17.17
880&m A K B5 3 (Bll#prfi-7777)17.53
779% 11 EE4 (KPFIRAC)17.85
763 i Bk 4 ([ L D C)18. 20
767K 1 &K H 3 (ML DC)18.96
81448 &2 H#h A4 3 (WUEIAC)19.00
816(F ji& WHMES (WUEIAC)19.14

-1.3 m)

7814 T MR 4 (RIMRAC)1T.T1
8661 (LI K 3 (LUF7v=v/27-0)17. 81
87942 i H Fn 3 (Blgarf-7777)18.13
801 JIl & 44 (35 )il & F£)18.48
88242 A HE IR 4 (BEhri-7777)18.57
870 H — &4 (LUF7v=v/21-1)19. 40
76648 M &3 (EMLDC)19.65
668/ & A I3 G R C)20.49
TT73T i #4383 CRIEIR AC)21.54
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(1#8)
1[ 3]
2[ 8]
3[ 4]
4 2]
5[0 7]
6[ 9]
70 5]
8[ 6]

(3#H)
1[0 4]
2[ 3]
3[ 1]
4 2]
5[ 5]
6[ 6]
70 9]
8[ 7]
9[ 8]

(5#H]
10 1]
2[ 8]
3[ 6]
4 9]
5[ 5]
6[ 2]
70 7]
8[ 4]
9[ 3]

(7#8]
10 4]
2[ 2]
3[ 1]
4[ 8]
5[ 9]
6[ 3]
7[ 5]
8[ 6]
[ 7]

(9#H]
10 6]
2[ 7]
3[ 2]
41 1]
5[ 5]
6[ 3]
7[ 4]
8[ 9]
9[ 8]

( 0.4 m)

62545 )11 W KA 6 (EMERA C)13.35
74615 &% W F16 (J7A7/] 1. AC)13. 64
903 — 446 (TATACER)13.76
7504 M F6 (EMLDC)13.79
824 Kk M HAKG 6 (M db A C)14.09
627 L4/ =726 (TEAM300)14. 41
636/ (LI W Ik 6 (A7) b7H73-)14.59
648N 11 I e G5 R C)15.22

( 0.6 m)

699 K H # .6 (I & 1)14.59
9020 ¥ HUIKk6 (TATACER)14.74
826 Y. X A6 (M db A C)14.75
621 FI/AH A 6 (RiimAC)14. 83
15 s SR E6 (BHY2=7)15.07
64577 )1l BE 2F 6 (GRETAEA2)15.14
6581 T~ B A5 (GEE R C)17.65
6567% 3= # b5 £ B R C)17.69
65745 A L5 (FE B R C)17.72

( 0.2 m)

828K K I 3%6 (e b A C)14.75
864/N & 5L &E 6 (LUF7v=//2)-1)14.78
018 K E 5 (TA7ACER)15.07
8297 A& B E 6 (= db A C)15.26
84157 = 3 A5 (= db A C)15.40
876 =i 1H K5 (MIZOLAB-AC)15.43
729K WE L6 (N AF A C)15.45
T2 EES (BHY2=7)15.63
70970 [ Bh5 (BEY2=7)17.22

( +2. 1 m)

6230t P k6 (RIMTERA C)14. 80
8397 [ ME 5 (Jx b A C)15.52
8360+ B 1-5 (e b A C)15.53
8354 B  F 5 Gk db A C)15.76
837 M A &5 (= b A C)15.80
751k F BE A6 (&ML DC)15.88
7540 & #R =} 5 (=R L D C)16.05
T193 i 1% % 6 (MY =2=7)16.15
8235 H H&E5 (WUEIAC)RIG

( +0. 1 m)

8673 N 1E == 6 (LUF7/=//2)-1)14.29
872 Kk 5 E N5 (LUFFv=vin-)14. 47
6205 & Al K5 (A C)16.20
7554 B A HES5 (EMLDC)16.27
706 H Kfn5 (BEHY=2=7)16.34
84285 K HE A5 (kb A C)16.39
783%E & BEth 6 (KR AC)16.61
62665 A 1% HB 6 (EMTERA C)16. 69
90077 JIl 2 E 5 (FA7ACIER)16. 84

[248]
1[ 3]
2[ 7]
3[ 6]
4[ 5]
5[ 8]
6[ 9]
[ 2]
[ 4]

[44H]
1[ 3]
2[ 7]
3[ 2]
41 1]
5[ 4]
6[ 9]
70 6]
8[ 8]
9[ 5]

[648]
1[0 7]
2[ 9]
3[ 3]
41 8]
5[ 4]
6[ 1]
70 2]
8[ 6]
9[ 5]

[8#H]
1[ 5]
2[ 7]
3[ 4]
41 1]
[ 2]
[ 3]
[ 6]
[ 8]
[ 9]

( -0.3
AV N
825/ H
62275
634 |1 A
653 4 Ji
654 4 it
6981#H 13
821 A
(  -1.1
8907% M
8401~
731488 H
113%&E 1§
68142 7K
15385 K
73044 H
748 | &F
7167 #
(  +0.5
624 H
9077 N

m)
B OK6 (BHY2=7)14.30
56 (x4t A C)14.36
H 326 (Rl AC)14. 38
K5 (A7)/h7873-)14.55
%6 (58 R C)16.54
6 G B R C)17.51
26 (H ) )RS

6 (z b A C) RIS

FW

28
Ty &
| &=

6 (Bledrt-1777)14. 44
5 (& 4t A C)15.09
£6 (/4% A C)15.10
W5 (BHY 2=7)15.20
ﬂﬂm (BmA7)v4797)15. 31
M5 (=R L DC)15.39
FiE6 (A A C)15.42
7 K6 ([ LDC)15.43
6 (BHY2=7)15.52
m)
i H 6 (g AC)14.91
% B 6 (7A7ACER)15. 33

\ﬁ%ji

= 5
1%
?Z

641k .24 5 (FBRETAE A 2)15. 51
695+% 7k %/ Bh 6 (Sf+ ke 1) 15.60
845 ILfl) WKL 5 (% 46 A C)15.65

90617 JI|
83814 Jt
8341 %
619 LI
( -0.5
784 Jf:
888 B
75985 K
63542 A
680 1% E
700 75 J5
860/~ (LI
905 (1 A
6781 M

(10481 ¢ +0.

1[ 5]
2[ 2]
3[ 6]
4[ 3]
50 7]
6 4]
70 1]
8[ 8]
9[ 9]

6934 77
810JI1 A
844111
679 4% A2
710/ £
157K 4
904 8T 1R
843¢n K
644 — i

BEEE 6 (727 ACIEMR)15. 65
By BE 5 4k A C)15.70
AL (kb A C)156.73
PE Ik 5 (EArimig A C)15. 88
m)
1E#f6 (KIMR AC)15.45
L6 (HllgAri-y197)15. 72
B 5 (EMLDC)16. 61
B K5 (A7) /b7h73-)16. 95
H % 6 BAATIVE)77) Ri5
E K 6 (TEAMEHIE) KI5
At 5 (BhlE L #=) Ri5
Bt K6 (7A7ACER) Ri5
B 5 (BAATY V)57 RIB
2 m)
FE K6 (G 1 =ke1)15. 89
— ¥R 6 (3 Il & 1)15.90
S5 db A C)16.46
% 6 (BEATIV1)77)16.52
W5 (MY 2=7)16.63
K5 (ML DC)16.78
& +6 (7A7ACER)16. 81
B A5 Gk db A C)16.94
3R &5 GRITEKS)17.52



(1148] (

1[ 2]
2[ 8]
3[ 6]
47 9]
5[ 4]
6[ 5]
70 1]
8[ 3]
9[ 7]

(13#8] (

1[ 5]
2[ 7]
3[ 4]
4[ 2]
5[ 8]
6[ 6]
70 9]
8[ 1]

[ 3]

IS A
"L-‘ D

1 62541 WBAHA 6 (Hefainiiz A C)13.35
746 5 5
903 % H

7504E
824K #ABG 6 (I b A C)14.09
867+ A 1E %6 (LUF7v/=v/2)-1)14.29
IR & K6 (#
8 825/ 6 (I dr A C)14.36

~N o o1k~ N

+0. 8
72385 K
78585 K
683 fif
886 1 it
711 #k
758111 H
11455 %
646 &% K
71848
+0. 8
87448% A

m)
?]]6 (XK#ElEL777)15.75
— 6 (K¥HIR A C)15. 81
ruﬁ N 6 (BRA7)/1)57)16. 45
B 5 (Blaart-7777)16. 58
w NS5 (BHY2=27)16.67
Bi £S5 (ML DC)16.94
% N5 (BHY2=7)17.25
o b6 (RETAEK )17, 28
EM 6 (BHY2=7)17.42

m)

E M5 (LUF7/=v/2)-1)15.
8844k T & =k 5 (Bllgsrt-7777)15.
871 KEF HEEWR 6 (LUF7/=//2)-0)16.
182854 FIRES 5 (KR AC)17.63
8920 (L 1= i 6 (Hlgari-777)17. 69
883EF A EH 5 Glgart-11iN171. T
862 F-H H— EK 5 (LUF7v=//20-1)17. 83
805/ Jii  f4E5 (%9 )1 B2 [)18.05
81TH H 16 (%9 )1l B2 k) K&

93
66
99

=+

E 6 (7527 ]r.AC)13.64
— 426 (7 A7 ACIER)13.76
6 (=ML DC)3.79

+ +

+ +
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|
o
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©CSSSS0 0
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(1248] (

1[ 2]
2[ 9]
3[ 7]
4[ 8]
5[0 1]
6[ 6]
70 3]
8[ 5]

[ 4]

(1448] (

1[ 6]
20 7]
3[ 9]
41 3]
5[ 4]
6[ 2]
71 8]

[ 1]

[ 5]

+0. 1
696 7% 1]
617K %7
7074 *f
808% &
891 % &
80445 A
639F H
732 H
708 {J+ i

m)
i Fne6 (1 =ke )15, 97
e b (iaig A C) 16. 41
b ¥ 5 (BHY 2=7)16.79
S5 (% )1 & 1)16. 81
Fal HE 6 (HIghrk-7777)16. 87
B N5 (% )1 [ F)16.91
g 55 5 GRIETAEA)17.08

5 U4 A C)17.12
AL (BAYL=T)RIG
+0.1 m)
8713 KL & A6 (LUFFv=viri-))16.14
8754% 11 EHi K 6 (LUF7v=v/27-1)16. 78
88942 i AKX =} 6 (Hll#ard-7)77)16.92
64277 & 4 N5 (FRETEKS)16.93
806/ 4= JiL 5 (35 Il & F£)18.36
643 = FI A5 GRETAEKS)18.84
885 & A= A5 (WIgArd-7777)19. 64
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61840 28 S Ik 5 (BERA C) Ri5
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4[ 8]
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[ 4]

4> O
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658 (L1 T
6525 5

m)
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gl 56 (it b A C)29.08
KIE6 (£ @ R C)30.08
26 (H )i e F)31.27
%6 (L DC)33.86
B N5 (G5 ® R C)35.38
K6 G W R C)RIH

H K6 (BEHY 2 =7)28.38
g6 e b A C)29.08
KHEE6 (G B R C)30.08
226 ()1 B 1)31.27

6 (kL DC)33.86

+0.
+0.
+0.
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ke (M L D C)31.23 1.
+0.
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o 00 OO OO OO
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1[ 3]
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3[ 4]
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6[ 8]
70 9]
[ 5]
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m)
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& f7 b (Kl t777)33.40
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%J\B (FRMT £ /& £3) 36. 86
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B 2b 6 (FRITEA D) Rim



INES-BHEBRF 1500m B4 LL—RRE QM)

(148]
1[0 2]
2[ 1]
3[ 3]
4[ 4]
5[ 6]
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648 P (L
8324m K

~N o o1k wWwN

640 FH

(1#8]

1[7]#7%3IAC B

7525 [if]
647 %k I
60442 f
65115 Ak
648 (LI
8324n K

640 H #I
649 ik

8641 %
76275 5
706 % H
7617 %
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422411 WUAREA 2 (kA HRE ) 12. 54
540/l B JEE 1 (WUEIAC)12.55
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